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(3)N, = N, = 2000, 7 = 0.00025 ¥ 37Kt 7T v k

The numerical simulation of s 3-dimensionsl wave vuation

o162, Ny-162, Ne-162, 1au-0.004, Trac-25m, di-0.01

=00 MAX - 4996786 0
i
|
| ) I}
\ ’ I
. I
n
03500000
©-0.500000 MAX -0395733
i \
- L0000
t-1000000 MAX -0.223978

- 1500000

t=1.500000 MAX -0.274185

- 2000000

t=2.000000 MAX -0.382779
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- 2500000

t=2.500000 MAX =0.327264

- 3000000

t=3.000000 MAX - 0.338563

L~ 3500000

t=3.500000 MAX =0.361526

- 000000

t=4.000000 MAX -0.385818

- as00000

£=4.500000 MAX =0.411887
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- 5000000

t=5.000000 MAX =0.440295

€= 5500000

t=5.500000 MAX - 0471760

- 6000000

£=6.000000 MAX =0.507267

- 6:500000

t=6.500000 MAX - 0.548497

L~ 7000000

£=7.000000 MAX =0.597128
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- 7500000

£=7.500000 MAX = 0.656330

- 8000000

t-8.000000 MAX -0.730764

- 8500000

£=8.500000 MAX = 0830255

€-9.000000

=9.000000 MAX - 0978533

L-9.500000

£=9.500000 MAX = 1.250644
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- 1na00r0n

t=10.000000 MAX = 2483562

€= 10500000

t - 10.500000 MAX - 1.134447

- 11000000

t=11000000 MAX =0.279764

€= 11500000

t = 11500000 MAX - 0.672840

L~ 12000000

t=12000000 MAX = 1.765918

20



- 12500000

t=12.500000 MAX = 1614223

|

€= 13000000

t = 13000000 MAX - 1056109

- 13500000

t=13.500000 MAX =0.821511

€= 14000000

t = 14000000 MAX - 0.690139

L= 14500000

t=14.500000 MAX =0.603972
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- 15000000

t=15.000000 MAX =0.542925

|

€= 15500000

t - 15.500000 MAX - 0497353

L~ 16000000

t=16.000000 MAX = 0463553

€= 16500000

t - 16.500000 MAX - 0.436759

L~ 17000000

t=17.000000 MAX =0417159
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- 17500000

t=17.500000 MAX =0.402220

€= 18000000

t - 18.000000 MAX -0.392597

L~ 18.500000

t=18.500000 MAX =0.389092

€= 19000000

t = 19.000000 MAX -0.393944

L~ 19500000

t=19.500000 MAX = 0420470
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L~ 20000000

t=20.000000 MAX = 0.610098

- 20500000

t=20.500000 MAX -0.394153

L~ 21000000

t=21000000 MAX =0.208195

- 20500000

t 21500000 MAX - 0.764598

L~ 22000000

t=22000000 MAX =0.601798
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- 22500000

t=22.500000 MAX = 0831932

- 23000000

t = 23000000 MAX - 0467017

L= 23500000

t=23.500000 MAX =0.241025

- 24000000

t = 24000000 MAX -0.205845

i

i

e
e

L= 24500000

t=24.500000 MAX =0.219167
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(5)N, = N, = 500,7 = 0.001 T ¢ = 10 A& D& sl

=9.500000 MAX - 1.263783 =9.600000

]

]

£=9.700000 MAX = 1460536 =9.800000
|

£=9.900000 MAX - 1981228 t=10.000000
|

t=10.100000 MAX - 2.114398 t=10.200000
|

t-10.300000 MAX - 1355102 t=10400000
n

t - 10500000 MAX - 1127135 t - 10600000
]
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MAX = 2465597

MAX - 1554631

MAX - 1222523

MAX - 1062329
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%% (4)a=b=2,N, = N, = 500,7 = 0.002

-00 MAX - 4978598 -0.500000 MAX -0.395959

\\\//

]

t= 1000000 MAX =0.223939 t=1.500000 MAX =0.156249
|

t= 2000000 MAX =0.113623 t=2.500000 MAX =0.157409
|

t=3.000000 MAX =0.225997 =3.500000 MAX - 0404666
|

t=4.000000 MAX - 5.228222 t=4.500000 MAX - 0397784
n

- 5000000 MAX -0.225642 t-5.500000 MAX - 0.257506
]
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=6.500000

=7.500000

t=8.500000

£=9.500000

= 15000000

MAX -0.270760

MAX - 0417249

MAX - 0461210

MAX =0211698

MAX =0.185241

MAX -0.244243
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=7.000000 MAX - 0.268759

'

t=-8.000000 MAX - 5.278712

'

=9.000000 MAX - 0.224822

'

t=10.000000 MAX =0.209033

'

t= 11000000 MAX =0.229063

'

t=12000000 MAX - 5.107921

'



A R

A.1 hadouDaentai.c

/%

hadouDaentai.c —-- 3 RICHE FAREHIR D PG E) HFE %2 BHEH L T 2R DEF
LT SWalL Lz FH L T <

*/

#include <stdio.h>

#include <math.h>

#define M (10)

#define K (5)

double a, b, ¢, rmin, rmax, zmin, zmax, distance, r0, z00;

/* to use matrix, new_matrix() *x/
#include <matrix.h>

/* to use GLSC */
#define G_DOUBLE
#include <glsc.h>
/* #include <glsc2.h> */

/x 2 FEDEEH +/
double d(double r)
{

return r * r;

/* FEIKDOWER - BS - ANBOEIER */
double F(double r, double z)
{
return d(a) * d(b) - (d(b) * d(r) + d(a) * d(=2));

/* R DEES */
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double E(double r, double z)
{
return a * sqrt(l - d(z) / d(b));

/* PEIDBEF */
double W(double r, double z)
{

return z;

/* ALBIDBEF */
double N(double r, double z)
{
return b * sqrt(1 - d(r) / d(a));

/* FAMIDIER */
double S(double r, double z)
{
return -b * sqrt(1 - d(r) / d(a));

/* FIISRME +/
double f(double p){
if (p<1){
return pow(d(p)-1, 4.0);
}
else
return O;
}
double g(double x, double y){
return f(sqrt(d(x)+d(y))/0.5);
}
double phi(double r, double z, int nfunc){
double H;
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if (nfunc==1){
if (a > b) {
H =K * exp(-M *x (d(r - r0) + d(z2)));
} else if (b > a) {
H =K *x exp(-M * (d(r) + d(z - 200)));
} else {
H =K * exp(-M * (d(xr) + d(2)));
}
if (H-0.1>=0)
return H - 0.1;
else
return O;
}
if (nfunc==2){
return Kxg(r ,z-z00);
}
else

return O;

double psi(double r, double z){
return O;

/x RINFLESDEAEL */
double min(double r, double z)

{
if (r < z) {
return r;
} else
return z;
}
double max(double r, double z)
{
if (r < z) {
return z;
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} else
return r;

int main()
{
int Nr, Nz, Nrd, Nzd, spacez, spacer, i, j, n, skip, nMax;
int nfunc;
double hr, hz, tau, Tmax, t, dt, ew, es, ee, en, er, mine, maxtau;
double maxu2, maxu3;
double r, z, hw, he, hn, hs;
double ri, riw, rie, zj, zjs, zjn;
double uw, ue, un, us;
matrix ul, u2, u3, ud;
double W_MARGIN, H_MARGIN, WIDTH, HEIGHT;
int k;
char str[100];
double sheta;
double pi;
pi=4*atan(1.0);
/* DS */
c =1.0;
/* TEH DR, FEHEl */
a = 3.0;
b =5.0;
/* IO ¢ ffl, z HORX x/

rmin

Il
|
(0}

rmax

Il Il
| ()}
(e}

zmin
zmax =6;

/* DEE */

printf ("Nr= ");

scanf ("%d", &Nr);

printf ("Nz= ");

scanf ("%d", &Nz);

/x PSR DO ¥ — 2 DALE */
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r0 = sqrt(d(a) - d(b));
z00 = sqrt(d(b) - d(a));
/* BHEE */
distance = 60;
/x BT EOES */
hr = (rmax - rmin) / Nr;
hz = (zmax - zmin) / Nz;
printf ("hr=Yg, hz=jg\n", hr, hz);
/* BRFE x/
er = 1.0e-13;
mine = 1.0;
maxtau = 1.0;
/¥ B KA F AL D HE Qi+ /
maxu2=0.0;
maxu3=0.0;
[ xFkskorkskkokkkkokokk BN € LK T ZRD B wokskskorokskokskorkkokkokkok /
for (i = 0; i <= Nr; i++) {
ri = rmin + 1 * hr;
rmin + (i - 1) * hr;
rie = rmin + (i + 1) * hr;
for (j = 0; j <= Nz; j++) {
zj = zmin + j * hz;

riw

zjs = zmin + (j - 1) * hz;

zjn = zmin + (j + 1) * hz;
if (F(ri, zj) >= er & ri >= 0) {
/* WEST =/
if (riw < 0) {
hw = ri - W(ri, zj);

ew = hw / hr;

}

hw = hr;

ew = 1.0;

/* SOUTH */

if (F(ri, zjs) >= er) {
hs = hz;
es = 1.0;
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} else if (fabs(F(ri, zjs)) < er) {

hs = hz;
es = 1.0;

} else {
hs = zj - S(ri, zj);
es = hs / hz;

}

/* EAST */

if (F(rie, zj) >= er) {
he = hr;
ee = 1.0;

} else if (fabs(F(rie, zj)) < er) {
ee = 1.0;
he = hr;

} else {
he = E(ri, zj) - ri;
ee = he / hr;

}

/* NORTH */

if (F(ri, zjn) >= er) {
en = 1.0;
hn = hz;

} else if (fabs(F(ri, zjn)) < er) {
en = 1.0;
hn = hz;

} else {
hn = N(ri, zj) - zj;
en = hn / hz;

}

} else {

ew = ee = en = es = 1.0;

hw = he = hr;

hn = hs = hz;

}
mine = min(mine, min(min(ew, ee), min(en, es)));
maxtau = min(maxtau,
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sqrt((ew * es * ee * en * d(hr) * d(hz)) /
(d(hr) * ew * ee + d(hz) * es * en)));
}
}
printf (" € DE/IME= %g\n", mine);
printf (" T DEKfE=%g\n", maxtau);
if (mine < er) {
printf ("mine=Y%g: *kkkxxx € HY/NX F X F G aokkkkkkk\n", mine) ;
}
if ((ul = new_matrix(Nr + 1, Nz + 1)) == NULL) {
fprintf (stderr, "FdSl ul ZHERTEEHEATULZ, ");
exit(1);
}
if ((u2 = new_matrix(Nr + 1, Nz + 1)) == NULL) {
fprintf (stderr, "EdSl w2 ZHERTCEEHEATULRZ, ");
exit(1);
}
if ((u3 = new_matrix(Nr + 1, Nz + 1)) == NULL) {
fprintf (stderr, "Fd5l u3 ZMERTEEHEATULZ, ");
exit(1);
}
//TE51 < X D Bl F]
Nrd=100;
Nzd=100;
if ((ud = new_matrix(Nrd + 1, Nzd + 1)) == NULL) {
fprintf (stderr, "4l u3 ZHERTCEEHATULZ, ");
exit(1);
}
printf ("Tmax= ") ;
scanf ("%1f", &Tmax);
printf ("7 (= Y%g )== ", maxtau);
scanf ("%41f", &tau);
printf ("A t= ");
scanf ("%41f", &dt);
printf ("nfunc: ");
scanf ("%d", &nfunc);
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skip = rint(dt / tauw);

if (skip == 0) {
printf ("A t WNIFTELHDT, A t= v &ULET, \n");
skip = 1;
dt = skip * tau;

/* FIHHED AT */
t = 0.0;
for (i1 = 0; i <= Nr; i++) {
ri = rmin + i * hr;
for (j = 0; j <= Nz; j++) {
zj = zmin + j * hz;
ulli] [j] = phi(ri, zj, nfunc);

}
/* u2 DFHE */
for (i1 = 0; i <= Nr; i++) {
ri = rmin + 1 * hr;
riw = rmin + (i - 1) * hr;
rie = rmin + (i + 1) * hr;
for (j = 0; j <= Nz; j++) {
zj = zmin + j * hz;
zjn = zmin + (j + 1) * hz;
zjs = zmin + (j - 1) * hz;
if (F(ri, zj) >= er && ri >= 0) {

/* WEST */
if (riw < 0) {
hw = ri - W(ri, zj);
uw = 0;
} else {
hw = hr;
uw = ulli - 1]1[j];
}
/* EAST */

if (F(rie, zj) >= er) {
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he

hr;

ue = ulli + 1]1[j]1;

} else if (fabs(F(rie, zj)) < er) {
he = hr;
ue = ulli + 11[j];

} else {
he = E(ri, zj) - ri;
ue = 0;

}

/* NORTH */

if (F(ri, zjn) >= er) {
hn = hz;
un = ull[i]l[j + 1];

} else if (fabs(F(ri, zjn)) < er) {
hn = hz;
un = ull[i][j + 1];

} else {
hn = N(ri, zj) - zj;
un = 0;

}

/* SOUTH */

if (F(ri, zjs) >= er) {
hs = hz;
us = ulli][j - 1];

} else if (fabs(F(ri, zjs)) < er) {
hs = hz;
us = ullil[j - 1];

} else {
hs = zj - S(ri, zj);
us = 0;

}

if (ri == 0) {

u2[i] [j] = utli]l [j] + tau * psi(ri, zj)

+ 2 x d(tau) * d(c) * (uw - ui[i][j]) / d(hr)
+ d(tau) * d(c) * ((ue - ui[il[j]) / hn -
(u1lil[j] - us) / hs) / (hn +
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hs);
} else {
u2[i] [j] = ullil [j] + tau * psi(ri, zj)
+ d(tau) * d(c) * ((ue - uw) / ((hw + he) * 2 * ri)

+ ((ue - utlil[j1) / he -
(uifil (3] - uw) / hw) / (he +
hw)

+ ((un - ui(il[j]) / hn -
(u1fil (3] - us) / hs) / (hn +

hs));
}
} else {
ul[i] [j] = O;
u2[il [j] = 0O;
hw = he = hr;

hn = hs = hz;

uw = ue = un = us = 0;
}
/I B RIEDFHA

maxu2 = max(maxu2, u2[i] [j1);

}
printf ("Max= %g \n", maxu2);
//ZFoR %z 5 <
spacer=Nr/Nrd;
spacez=Nz/Nzd;
for(i = 0; i <= Nrd; i++){

for(j = 0; j <= Nzd; j++){

ud[i] [j] = ull[i * spacer][j * spacez];

+
+
W_MARGIN = 10.0;
H_MARGIN = 10.0;

WIDTH = 100.0;
HEIGHT = 100.0;
g_init("Meta", 2 * WIDTH + 3 * W_MARGIN, HEIGHT + 2 * H_MARGIN);
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g_device(G_BOTH) ;
g_capture_set("");
g_def_scale(0, rmin, rmax, zmin, zmax, W_MARGIN, H_MARGIN, WIDTH,
HEIGHT) ;
g_def_line(0, G_BLACK, O, G_LINE_SOLID);
g_sel_scale(0);
sprintf(str, "MAX = J1f", maxu2);
g_text (WIDTH + 6 * W_MARGIN, H_MARGIN, str);
g_text(WIDTH + 2 * W_MARGIN, H_MARGIN, "t = 0.0");
g_move(a, 0);
for (k = 0; k < 158; k++) {
sheta = k * 0.01;
g_plot(a * cos(sheta), b * sin(sheta));
}
for (k = 472; k < 629; k++) {
sheta = k * 0.01;
g_plot(a * cos(sheta), b * sin(sheta));
}
g_marker_type ( -4 );
g_marker( 0, z00 );
g_marker( 0, -z00 );
g_line_color(G_BLUE);
for (k = -10; k <= 0; k++) {
g_contln(rmin, rmax, zmin, zmax, ud[0], Nrd + 1, Nzd + 1, k * 0.2);
}
g_line_color(G_RED);
for (k = 0; k <= 10; k++) {
g_contln(rmin, rmax, zmin, zmax, ud[0], Nrd + 1, Nzd + 1, k * 0.2);
}
g_hidden(rmax - rmin, zmax - zmin, 5.0, 0.0, 10.0,
distance, 20.0, 20.0,
WIDTH + 2 * W_MARGIN, H_MARGIN, WIDTH, HEIGHT,
ud[0], Nrd + 1, Nzd + 1, 1, G_SIDE_NONE, 1, 1);
g_capture();
g_sleep(1.0);
nMax = rint(Tmax / tau);
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for (n = 2; n <= nMax; n++) {
maxu3=0;
/KKK okokook ok ok o ok ok ok ok ok ok ok ok ok ok ok ok ok TEL TR o ok ok ok sk ok sk ok ok ok o o ok ok ok ok ok ok ok ok ok ok /
for (i = 0; 1 <= Nr; i++) {
ri = rmin + i * hr;
rmin + (i - 1) * hr;
rie = rmin + (i + 1) * hr;
for (j = 0; j <= Nz; j++) {
zj = zmin + j * hz;

riw

zjn = zmin + (j + 1) * hz;
zjs = zmin + (j - 1) * hz;
if (F(ri, zj) >= er && ri >= 0) {

/* WEST */
if (riw < 0) {
hw = ri - W(ri, zj);
uw = 0;
} else {
hw = hr;
uw = u2[i - 1]1[j];
}
/* EAST */
if (F(rie, zj) >= er) {
he = hr;
ue = u2[i + 1]1[j];

} else if (fabs(F(rie, zj)) < er) {
he = hr;

ue = u2[i + 11[j1;

} else {
he = E(ri, zj) - ri;
ue = 0;

}

/* NORTH */

if (F(ri, zjn) >= er) {
hn = hz;
un = u2[i] [j + 1];

} else if (fabs(F(ri, zjn)) < er) {
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hn

hz;

un = u2[i][j + 11;

} else {
hn = N(ri, zj) - zj;
un = 0;

}

/* SOUTH */

if (F(ri, zjs) >= er) {
hs = hz;

us = u2[i][j - 1];
} else if (fabs(F(ri, zjs)) < er) {

hs = hz;

us = u2[il[j - 1];
} else {

hs = zj - S(ri, zj);

us 0;

}
if (ri == 0) {
u3[il [j] = 2.0 * u2[i][j] - u1li] (]
+ 4.0 * d(tau) * d(c) * (ue - u2[il [j]) / d(hr)
+ 2.0 * d(tauw) * d(c) * ((un - uw2[i][j]) / hn -
(u2lil [j] -
us) / hs) / (hn +
hs);
} else {
u3[il [§j] = 2.0 * u2[i][j] - u1[i] [j]
+ d(tau) * d(c) * (ue - uw) / (ri * (hw + he))
+ 2.0 * d(tau) * d(c) * ((ue - u2[i]1[j]) / he -
(u2lil [j] -
uw) / hw) / (he + hw)
+ 2.0 * d(tauw) * d(c) * ((un - uw2[i][j]) / hn -
(w2lil [j] -
us) / hs) / (hn +
hs);

} else {
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ullil [j]1 = 0;

u2[i] [j] = O;

u3[i] [j]1 = 0;

hw = he = hr;

hn = hs = hz;

uw = ue = un = us = 0;
}
/I B RIEDFHE

maxu3 = max(maxu3,u3[i] [j]);

}
for (i = 0; i <= Nr; i++) {
for (j = 0; j <= Nz; j++) {
ul[i] [j] = w2[i] [j];
u2[il [j] = uw3[il[j1;

}
/13 Z 5] <
for(i = 0; i <= Nrd; i++){
for(j = 0; j <= Nzd; j++){
ud[i] [j] = u2[i * spacer][j * spacez];

}
t = tau * n;
if (n % skip == 0) {
printf ("Max= %g \n", maxu3);
g_cls(Q);
g_line_color (G_BLACK) ;
g_move(a, 0);
for (k = 0; k < 158; k++) {
sheta = k * 0.01;
g_plot(a * cos(sheta), b * sin(sheta));
}
for (k = 472; k < 629; k++) {
sheta = k * 0.01;
g_plot(a * cos(sheta), b * sin(sheta));
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}

g_marker_type ( -4 );

g_marker( 0, z00 );

g_marker( 0, -z00 );

sprintf(str, "MAX = J%1f", maxu3);

g_text (WIDTH + 6 * W_MARGIN, H_MARGIN, str);

sprintf(str, "t = %1f", t);

g_text (WIDTH + 2 * W_MARGIN, H_MARGIN, str);

g_line_color(G_BLUE);

for (k = -10; k <= 0; k++) {

g_contln(rmin, rmax, zmin, zmax, ud[0], Nrd + 1, Nzd + 1,
k x 0.2);

}

g_line_color(G_RED);

for (k = 0; k <= 10; k++) {

g_contln(rmin, rmax, zmin, zmax, ud[0], Nrd + 1, Nzd + 1,
k x 0.2);

}

g_hidden(rmax - rmin, zmax - zmin, 5.0, 0.0, 10.0,
distance, 20.0, 20.0,
WIDTH + 2 = W_MARGIN, H_MARGIN, WIDTH, HEIGHT,
ud[0], Nrd + 1, Nzd + 1, 1, G_SIDE_NONE, 1, 1);

g_capture();

/¥ ROUATIZ VY IZINEDEEED x/
g_sleep(-1.0);

/* U4 Y RUERHET */

g_term();
return O;
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